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Explanations

RRB Group D

Q.1) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.2) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.3) Explanation:
36, 64, 90 © E.3r.0%.

91 36, 64,90

41 4, 64, 10

2| 1, 16, 10
1, 8, 5

Ox4 x2 x& x5 =2880
é@g‘:l 608.0?3 = 2880 —-19
= 2861

Q.4) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.5) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.6) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.7) Explanation:
I, IT eoodaren K558 $88¢a@ran.



Q.8) Explanation:

Soim —» S0
e
50
l

583 \ wirths
i

ores

Q.9) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.10) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.11) Explanation:
2018 238 5 Fdoardo

2018 2019 2020 2021 2022 2023
20 HTeen 1 1 2 1 1 1
8% Oro Dogy= 1+1+2+1+1+1 =7
0 252 Baeen
2024 2258 5 PFoaro @H&od

Q.12) Explanation:

J > Kememe e (i) 00
J>K>N-———- 83 (i1) Srod
J>K>0>N-—-—- 8 (1il) Sood

S S0ees (©HBEIen b0

Q.13) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.14) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.15) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.16) Explanation:

N3 =1.732
L_ N3 3 1732
E_"-E\E_ 3 = =0.577

Q.17) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.18) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.19) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.20) Explanation:

2.8 Jogyg = X

Eétéo = x2
X2 = 2x+3
X2—2X -3=0

X2—3X +x-3=0
x(x-3)+1(x-3)=0
(X—3)(X+1) =0

x=3 S —1



Q.21) Explanation:
iS5 HES 509

1, 2 Botir 90300

Q.22) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.23) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.24) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.25) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.26) Explanation:

M [TALL N

IVTT

Q.27) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

0.28) Explanation:



~ s 1

Multiple Choice Type Question: ** Explanation Not Available **

Q.29) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.30) Explanation:

gheso(a) = 63 20.90

h:{ﬁ]a

2 o
3 _6x3 0.
——2 X6J_——2 —9

Q.31) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.32) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.33) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.34) Explanation:

AxB B_%2 , A
,Jl'.B B frgnlwile'] = Al_-
A@B - B0 L A
A%B B2 .t

P, Q8 SoBE75 wond

Q 39 & P

M 8558 P wonsd P/M
N 89 M ©0&

N->M

N@Q— Q2% ,N-



®o& P/M*xN @ Q

Q.35) Explanation:
BES 308 509 SKTeDE IS B0 = 8 8.5/ Ko.

J80 Koo 30838 IS drbo= 5 8.8 /Ko.
Srdo=x ..

-

Q

g"ag =

_FL T g9l
8 5 2

8.5.
@zgz‘“}::tﬂﬂ
40 2

Q.36) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.37) Explanation:
8, ePgeS, T°sR Sd BB I el SErER0 4 ©HE08

QO
O

Q.38) Explanation:

Sngo eeer = S000 Lood
& i = 3200 K08
508 e = 2500 HHob
508, & e = 1500 508
n (T) =3200

n(C) =2500

n (T C) = 1500



n(TUC) = n(T)+n(C)-n(TNC) = 3200 + 2500 1500
528 ed), & md e RS = 4200
528 8, & md @K% =5000 - 4200 = 800 L0

Q.39) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.40) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.41) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.42) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.43) Explanation:
20 Soden 3o = &x. 80

28 3D FHIo = &r. 4
9 SHen QB =4 x 9 =36
9 S0P e W3 = &r. 50

ergfo= @Y Jo— QI
=50—-36=8r. 14

emgtmito = — 272 . 100
E“.ﬁf!u
ergso
26 26

Q.44) Explanation:

- N

g5 —= Dafro¥
B85 W E

(1 =3
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Q.45) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.46) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.47) Explanation:
Serteo Sg dderden ©odbodRdHTom. Sad I TS SrEsd vood.

Q.48) Explanation:
2.8 28 Qo Koten= 12

5088 FIS) Qo® Koexen= 15

= S
Soth PiHe» &80 BOOS M oW aPio 1 4 ysip  m 3

12715 12x15 12x15 20

éﬁo SO&&J"S% B/Jé_é (\6500\530 20 110

—=—=3=hours
2 3

Q.49) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.50) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.51) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.52) Explanation:
258 HEPHEE ©DoDS P = 93.75 &2



T T —— - —— = ——=

Q

SerH08 HoDS &= 93.75 x 4 = 375 Hp2

Q.53) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.54) Explanation:
5505 ©My% Jo= &r. 466
ergideso= 16.5%

SIS
AL _100+165 L 0 aoo

Sgefa = 2,100
gyl
Q0= ?25;%0 — @I

=400 - 330 = &».70

= 70100 =17 5%
40

Q.55) Explanation:

esdlass “3"5 — :s;’m;u::

{uﬁfm‘:‘aﬁi

Sof — HErHD SBEr3

©80K058 &9 k00 B3 ©)E0h

Q.56) Explanation:

(
()

SHBIren 4+ 1 =5

Q.57) Explanation:

Miuiltinla Chaire Tyna Niiactinn: *¥% Fvnlanatinn Nnt Availahla *%
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Q.58) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.59) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.60) Explanation:
3072 dogygen= x1, x2, x3

ot ata _

]
x1+ X2+ x3 = 21....(i)

AR 55 m+ x =10 (1)

Bt g sy ta=16 (1)

(1).(ii) © %09 10 + x3 = 21

x3 =11
(i), (iii) ©09 x1 + 16 = 21
xl =5
(1) oD 5 +xp +11=21
x2 =15

Q.61) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.62) Explanation:

Lol A VL _
QTR0 Dot oen= B+4+15415420425425 112 _
7 ST

Q.63) Explanation:

Multinle Choice Tvne Ouestion: ** Fxnlanation Not Availahle **
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Q.64) Explanation:

B0 Sogge A& =3 : 5
& Joggen = 3%, S5x
S0y Sogg= 10

_3x+10 5
Sx+

21x+ ]'9(;1 25x+50

4x= 20

x=5

Qoggen =3 x5, 5 x5= 15,25

Q.65) Explanation:
56,7, 9083
315,6,7,9
5,2,7,3
3 x5x273=630
3%0=1

Sdogg = 630 + 1= 631

Q.66) Explanation:

8O H0dhdyy = x

2080 BHXPEHA HcHoy + SO Hahny= 70
BB Hchy + x = 70

©0E0 BT Hchdy= 70— x

00% BB0 HITPHE H6H) = 70— x =5 = 65 — x

65-x= 20
3(65 - X3>= x—35

108 — vy =xv =S




A o -~ 4x — Lx -~

195 +5= 3x +x
4x = 200

x= 50 LodSyoren

Q.67) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.68) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.69) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.70) Explanation:
2016 H058y808° ABC K0 &Pt Trsoten

&b (P oD 50 0od SPoTedd

Q.71) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.72) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.73) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.74) Explanation:
Z0Dd Jwdo orad = &r.36,28,000

35023?%@: 45%

% .136.28,000 = 16,32, 600



100

Q.75) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.76) Explanation:
Foeses @B B0 Seny= &r.x

i-—=080=—="530

x= 8. 150

Q.77) Explanation:
ég 0 PED, JLen), Aen = = 5%, 3%, X

68 0 dorgse Jeego = 2 (Ib+bh+hl)
= 2((5%)(3x)+ (3x)(x)+ (x)(5%))

=2 (15x% + 3x% + 5x2)

= 46x°

46x°= 414

x2=9

x =3

LD, Ieny, den = 5x, 3x,x = 15,9, 3

Q.78) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.79) Explanation:
H5Hen(M;) = 800
Garen = 30



QADS Blaren= x

A Hthsven(M;)= 800 — 80 = 720

DoADI HA 8 VT8 HE Teren (dy) = 30 - x
M;d; = Myd;

800 x 18 = 720 (30-x)

_ 80018 ~20

AM—z= 720
x =10

H FrQ BHTR8 HE Taren = 30 —10 = 20

Q.80) Explanation:
W-2=U;5+3=8
U-2=5;8+3=11
S-2=Q; 11 +3=14
Q-2=0;14 +3 =17

- 017

Q.81) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.82) Explanation:
@) ¥4 griio 6o

C SoeEo Vagriio 6ob.
sea C Qg oob

Q.83) Explanation:
25 e TBen= X 0808

50 e e@en = X



B Dend = 22.50 2den
0.25x+ 0.50x= 22.50
0.75x = 22.50

x = 30 >&@en

Q.84) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.85) Explanation:

3otd VB Mo = 440 8.3
30¢5E3 Gew S50 = x .80, /K0.
3o Bew S50 = (x+5) 8.80./Ko.

Q.86) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.87) Explanation:
o8 D) 5 ®o8e Jogg = 10000

4,5,7 0 8% = 140
140) 10000 (71
9940
60
= 10000 + (140-60) + 3 = 10083

Q.88) Explanation:
0.0006697

0.0006700 (697 8 SR ol = 700)

- 0.000670



Q.89) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.90) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.91) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.92) Explanation:
15+6=21

21 +9=30
30 + 12 =42
42 + 15 =57

Q.93) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.94) Explanation:

KITE -——————— LITE
SUTE ———————- TUTE
PLUE ———-oo QLUE

Q.95) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **

Q.96) Explanation:
e, $en 1HE) GoTd . NG

Q.97) Explanation:

Multiple Choice Type Question: ** Explanation Not Available **



Q.98) Explanation:
3364

5| 336458
5| 25 |
108| 864
864
0

/3364 =58

Q.99) Explanation:
QADI $yB0S° ot Teen IPBDH Gamyo.

Q.100) Explanation:
BT HIUAre0E 6GEDH o Swego et Hepte ol e§)E Hrdo Gonod.



